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II. DERECEDEN Adu:

DENKLEMLER .
I Sinifi: Tarih:

Cevaplar C
Denklemlerin ¢oziim kiimesini bulunuz.

1. a. 4x’> +6x=9x> —15x

1b

2a

b. 13x —7x* =5x +8x

2b

2. a. (x—7)(x+3)+(x—l)(x+5)=102

3a

b. 55-x(3x+4)=2(17-2x)-62

3b

3. a. 2(x+1) —(x-3)fx+3)=7+x

4a

b. 2(x—2)(x+2)—(x—l)2 =x’-5

4b

4. a. (x—l)(x2 +x+1)=x2(x—1)

S5a

b. )c2(3c+2)=(x+2)()c2 —x+3)

Sb

5 a. 2x*—x*=0

6a

6b

b. 3x* —x=0

6. a. x’ —6x> =4(x—6)

b. 4y° +4y> =2(y +1)



Cevaplar 6 6

7.a. —+——=5
x x+1
Ta b. 24 > -4
x x+2
7b
1§+4x 2%+5x
8a 8. a. —> =7
16 24
8b
13x+5 29x-2
9a T 48 2,4
9b 9.a. x> +2x—-15=0
10a
b. x> -7x-8=0
10b

(x-2) _x2 —4_(x—2)2

10. a.
2 4 8

2lx+l lx—l
3 3

L3 39



